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1 Introduction 
According to[1]，the measurement report triggering procedure is done according to the following sequence when the triggerType is set to ‘event’:
Step-1: when a first cell or cells trigger the event entering condition, the concerned cell(s) are included in the cellsTriggeredList and the measurement report is send to eNB including the concerned cell(s).
Step-2: when a subsequent cell or cells trigger the event entering condition, the concerned cell(s) are included in the cellsTriggeredList and the measurement report is send to eNB including the concerned cell(s).
Step-3: when one or more of the cells included in the cellsTriggeredList trigger the event leaving condition, the concerned cell(s) are removed from the cellsTriggeredList. 

2 Discussion
First, the cellsTriggeredList is limited to maxCellMeas(32 [1]).  If the cellsTriggeredList is already full then new entering cells will be delayed to next reporting opportunity. If one of the new entering cell is the best candidate for handover then eNB may choose a second-best candidate to prepare handover or the handover to the best cell is delayed at least one TTT. Second, signalling overhead is increased because leaving cells are still be reported and new entering cells are possible to be reported in next turn. 
In order to make the it clear,  here is one example. Assuming the maxCellMeas is 4, as shown in figure 2.1. Cell 5 can’t be reported at T2, and just be reported at T3 after cell 1 is removed. 
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Figure 2.1
According to the description above, we propose to change the sequence as step-3, step-1, step-2 when the triggerType is set to ‘event’. And the Figure 2.2 depict the result of the same example after new sequence is adopted. Cell 1 is removed at first which make space for cell5 in the cellsTriggeredList, and then cell 5 as well as cell2, 3 and 4 is reported at T2. At the same time, the measurement report at T3 is saved. 
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Figure 2.2

3 Conclusion 
Proposal: the text procedure to removing leaving cells from cellsTriggeredList is moved before the text procedure to report the entering cell(s) first time when the triggerType is set to ‘event’.
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